LEVELLING FOOT

—

RB & NRB SERIES ABL & NABL SERIES

MFZ & MFZR SERIES
MFA & MFAR SERIES

1}1

NHNR-80 SERIES PAD-A SERIES

PAD-B SERIES FR SERIES

!\!

fROS

WORK TABLE FOOT BASE A/L PROFILE FOOT BASE C.B PAD ofElE Y

ANCHOR BRACKET




DESCRIPTION PAGE

WHEEL MASTER
_,%él DI.AE.I %Jé |o (D'ST'NCT'ON FUNCT'ON) 44444444444444444444444444444444444444444444444444444444444444444 06
2l OFAE] 20| (APPLICATIONS)  cvrvereeeeeieiisisisies i 07
Hfx|eted gl |_I$l_tcl>rt.g (LAYOUT * ATTACHMENT) +veeeeeeemsmsisiieiiii 08
Hoig7H 8= % ZEE (BEARING COVER)
SUS Wheel Master WIS-40F&S ZtE& (LIGHT DUTY PURPOSE) --wvoooverssveessoess 10
SUS Wheel Master WIS-60F&S &5t5& (MEDIUM DUTY PURPOSE) -wwvvvosvvessvoeen 1
SUS Wheel Master WIS-80F&S &st&& (MEDIUM DUTY PURPOSE) 12
WI=40F&S ZBHEE (LIGHT DUTY PURPOSE) :vvrvsvvvesvvvessvvvssivsssvesv 13
WI-60F&S &5t&E& (LIGHT DUTY PURPOSE) e 14
WI-80F&S %3) (MED|UM DUTY PURPOSE) ................................................................. 15
WI-100F&S &5 |- == (MED|UM DUTY PURPOSE) ................................................................. 16
WI-120F&S &35t58 (MEDIUM DUTY PURPOSE) 17
WI-150F J—l_o|- =2 (ULTRA HEAVY DUTY PURPOSE) .......................................................... 18
W|M_6OOFP(E)&S %3)%%(MED|UM DUTY PURPOSE) ........................................................ 19
W|M_800FP(F)&S %3%%(MED|UM DUTY PURPOSE) ....................................................... 20
WLC-1000FP %3%%(MED|UM DUTY PURPOSE) .............................................................. 21
WLC—200FP, WLC-700FP & - Z5FE8(LIGHT & MEDIUM DUTY PURPOSE) - 22
WIP-200FP&S @3%%(L|GHT DUTY PURPOSE) ................................................................. 23
WXT_SO’ 100 & - %8%%(MEDIUM HEAVY DUTY PURPOSE) ......................................... 24
WXT=125, 150, 200 DSHESE(ULTRA HEAVY DUTY PURPOSE) wwrovovvvvesssvvvesssiveeseo 25

LEVELLING FOOT

=0 ZEE 7|5 U EN - ZSRAREH ZAIE| - FEHEH 28

(FUNCTION & FEATURE - AN IMPORTANT MATTER - QUALITY CONTROL - ATTACHMENT)

BL & NBL SERIES ettt

RB & NRB SERIES ettt
RL & NRL SERIES - ettt
ABL & NABL SERIES - ettt
ARB & NARB SERIES -ttt
FABL & NFABL SERIES
NS SERIES oo
MF SERIES
MFR SERIES
MFT SERIES
MFTR SERIES
MFZ & MEA SERIES oo
MFZR & MFAR SERIES
MFN SERIES
MFNR SERIES
MFU SERIES ... .

VT S B IS o et
NHNR-65 & NHNR-65 (&)
NHNR-80 oo

P A D A o

FR & PL o ooreeeeme oo
ANCHOR BRACKET & WORK TABLE FOOT BASE
A/L PROFILE FOOT BASE
FH| PAD & TFBIE. 24 oo
AZ2 PACKING INFORMATIONS  rvvvvveeeemmmiaeieiseseececssesee s



SUS Wheel Master

« HI#Qt SEAEl HES Helst BE RES StainlessE A
o2 M =0| EX| EFLICE

+ =2x|(Bedy)E HUFXZ MASIORM elto| Dj2{5l =x|2|
4% 20lE SH(Al Bedy)=LCH oF 32| 5152 o RH&LICH

+ Use Stainless fer all part, exclusive of wheel and plastic

handle, se it is net rusted.

*Make bedy by precisien casting, se the exterier is
beautiful and the sedy maintain mere three times of lead
than Aluminum lsedy.

WHEEL MASTERE HARHSZE(ROHS)7|ZE0 =Etst MEZLIct,
WHEEL, MASTER is product which is suitable to Restriction of Hazardous Substances Directive(ROHS) Standard.



\WHEEL MIASTER

Distinctien

OtAEl= AY SX|0|HM 15t5(100ke/4EA~3000ke/4EA) AFBEI= 7|5 CHSX B YLICH

02 FAT S|, HAS U DYASE B ML E4 HEE S BT, SN WED|S0| et
29t 50| ZH0| 8| SHEE M7E W2 TAE0 UBLICH
2 AL S A Aololl & Hlof2IS Aelstol 02 HASIA 360= S/X0| Solstn F2

al J X o

= =]

et £42 0|5Y, =R0| =Z I YTYS LHE o L7 [SES #EAN0| ZEYLICH

This wheel master is small bedy and technical multipurpese
wheel used fer high press(100ke/4ea~3000ke/4ea).

This is made up ef the main lsedy geunded by aluminium, the
upper plate with a ferged & a press. The catapult wheel by
specially cempeunding, synthetic rulbleer with superier
sustpreef and dustpreef dueice, and the handle designed te
simply adjust te high & lew.

This wheel master have the advantage ef making it easy te
remete in a 180 degree are by putting in the ball bearing

between upper plate and the main bedy, alse get a change eof

A directien and meve easy.
Wheel Master= 50| ZZA| XstEA0=

202 TEBAlE ATIHE 0/88 4
QIEE 7|50| J4ME|0f : _— .
ML= o [
AR20| TaatL|c} Wheel Master s function is improved to use hand in low load and to use a wrench

in high low when adjust the high and low so, wheel master is convenient to use.

Functien

£42 0154 ER0| = H 4Ty 18 Ils
(SIMPLE MOVEMENT) (ADJUSTMENT OF THE HIGH AND LOW. (FIXED FUNCTION)
AND CUSHION)



1578 L= Hi QI




= -
Tglj\l'ﬁo]- An Impertant Matter

tof Fatsict
olLfol %

In case of the heavier weight ef equipment than the recemmended lead capacity per 4 pieces, the higher range
medel of wheel master sheuld lse adepted. It means mere wheels than 4 pieces are net assumed te maintain the
equipment weight eecause the weight ef equipment is net usually distrieuted te each wheels identically and

simultaneeusly. (But mere wheels may e adepted within the recemmended leadcapacity per 4 wheels)

HAEE Hit

OB AINE 7|=BAo= AEtsIX|O
29| IES=E H7|st HYLCt,

n

]

Q1Ho 2 0|SAl 27H2| FHAE(0f 3tS0| EBEE 8

2l

3=l
BOLTING
TYPES

TAPPING

v

TAPPING

As general rule, we put 4 casters. But, the lead is put en 2 casters when it meves en flat fleer oy human pewer.
Se, we marked a limit of lead when the lead is put en 2 casters.

DRILLING

DRILLING

geq
BOLT SIZE

HEX BOLT

M6X1.0
L=15

HEX BOLT

M8X1.25
L =20

HEX BOLT

M10X1.5
L =20

HEX BOLT

M12X1.75
L =230

STUD BOLT

M8X1.25
L=25

STUD BOLT

M12X1.75
L =35

STUD BOLT

M16X2.0
L =45

HEIIE
MODEL

WI-40F
WI-60F

WI-80F

8f:§) WOO-IL INDUSTRY CO.,LTD.

WI-100F
WI-120F

WI-150F

WI-408

WI-60S
WI-80S

WI-100S
WI-1208



o] 2} ¥ (BEARING COVER)

Wheel Master= F|5E(Tep Plate)nt SxiAt0|Q] HIORIFEC| ES H|0{2!7{H(Bearing Cever)s &Y
sloz M EZl 0|2, £8 52 XM FEEIHe| 3|2 0I5t st 52 WX MEQ 2 HE Al
Lict,

Wheel Master is asscmbled te insert Bearing Cever in searing part between Tep Plate and Bedy. Se, cut eff dust,
impurity, meisture, etc. and Tep plate easily retate, and preef against rust and lengthen preduct's life.

==

- WHEEL/MASTER - WHEEL MASTER

158 L=E Ui



= (Dimensiens

)

SUSWHEEL MASTER

U v IS 4 O ZSHEE(LIGHT DUTY PURPOSE)

WIS-40S

(Unit : mm)
WIS-40FP w0 WIS-40S
;2 Bearing Cover 36 Bearing Cover
. 30 _ T 18
[0 ] e
@ o) 8 g @453 /‘\ . E @453
ol (AN 3 ° O @
119, : "
D D1 4065 | 2 | ) o| )
M8 TAP DP12
ez M12 BY ORDER
55
() agn .
X| &(Specification)
o i 518 St=(Lead/unit) : 100ke/EA
o X 5|8 5l&(Recemmended) : 200kg/4EA
o XI=(Net Weight) : F-TYPE - 0.65ke / S—-TYPE — 0.66ke
o AMF22&(Temperature range) : =10 ~ +90C
i E(Material)
HS =9 THE(KS) HHXZ| HS =3 THE(KS) HHHE|
\[0] PARTS MATERIALS TREATMENTS \[0) PARTS MATERIALS TREATMENTS
1 Toilz';lfTE SUS304 | Vieratery Barrel 5 "e‘f,gz;m) SUS304 Natural
BALL - FOOT Black
2 27 SUS304 Grinding 6 kI N.B.R P
3 Flz;.;rE SUS304 Vieratery Barrel 7 P,l:\l SUS304 Natural
4 HANDLE ABS e 8 WHEEL _ Black
S s NYLON-6 3o )L ] AARSh 2w
% WHEEL : Pelyurethane, Mc—Nylen oy erder
] 0 WOO-IL INDUSTRY CO.,LTD.




SUSWHEEL MASTER

%515 E(MEDIUM DUTY PURPOSE) v v IS 6 O

eI (Dimensiens) (Unit : mm)
WIS-60FP ZZ WIS-60S Bearing Cover
46 Bearing Cover 26
% 375 ‘ 24.5
m
(0 D 8 g
S - / BN 9
3 &Y 15 3 \ *®
<K §f<>\ : Q ®;
QOKJ%Q .
o LT =l 2|
@ Q

J
A ‘ M12TAP DP15
= [\z@S7HOLE \K M16 BY ORDER

X| ¥(Specificatien)

o i 518 StE(Lead/unit) : 500ke/EA

o X 5|8 5t=(Recemmended) : 1000kg/4EA

® XI=(Net Weight) : F-TYPE — 1.09ke / S-TYPE — 1.1k
o AF22&(Temperature range) : =10 ~ +90C

I Z(Material)

Hs =4 THE(KS) HEHXZ| HS =3 THE(KS) HHHE|
\[0] PARTS MATERIALS TREATMENTS NO PARTS MATERIALS TREATMENTS
TOP PLATE . Leveller(M10)
1 Heq SUS304 Vileratery Barrel 5 EmEE SUS304 Natural
BALL L FOOT Black
2 27 SUS304 Grinding 6 kI N.B.R P
3 FRE'A;.;?E SUS304 Vieratery Barrel 7 P,l:\l SUS304 Natural
4 HANDLE ABS Red 8 WHEEL NYLON=-6 Black
H= - A AH - q
\_ HS NYLON-6 A ) U HE A5 Y,

x WHEEL : Pelyurethane, Mc—Nylen oy erder

JI578 ==t @il



SUSWHEEL MASTER

WIS—-30

355 E(MEDIUM DUTY PURPOSE)

WIS-80S

8= (Dimensiens)

88
61

WIS-80FP WIS-80S

K

30

Bearing Cover
45.5

(Unit : mm)

Bearing Cover

4-@9 HOLE

34.2
\

—

7 A 1)
O Q&—EL M,q&/\ D §
ol o és 2 ” ®/
iBIRASZ
9 $
A O =
N

12,

M12TAP DP15
M16 BY ORDER

X| ¥(Specificatien)

o /i 518 StE(Lead/unit) : 800ke/EA

o =3 5|18 515(Recoemmended) : 1,600ke/4EA

® X=(Net Weight) : F-TYPE — 2.28ke / S-TYPE — 2.21ke
o AF22%(Temperature range) : =10 ~ +90C

I E(Material)

Hs =9 THE(KS) HHXZ| HS =3 THE(KS) HHHE|
\[0] PARTS MATERIALS TREATMENTS \[0) PARTS MATERIALS TREATMENTS
TOP PLATE . Leveller(M12)
1 Hem SUS304 Vileratery Barrel 5 EmEE SUS304 Natural
BALL L FOOT Black
2 27 SUS304 Grinding 6 kI N.B.R P
3 Flz;.;rE SUS304 Vieratery Barrel 7 P,l:\l SUS304 Natural
4 HANDLE ABS e 8 WHEEL NYLON=-6 Black
H= - A AH - q
\_ HS NYLON-6 A ) U HE A5 Y,

% WHEEL : Pelyurethane, Mc—Nylen sy erder

|3 WOO-IL INDUSTRY CO.,LTD.




QIE&E(Dimensiens)

WI-40FP

Bearing Cover

Xl ¥(Specificatien)

o /Y 318 5t5(Lead/unit) : 50kg/EA
o =3 518 55(Recoemmended) : 100ke/4EA
o X}=(Net Weight) : F-TYPE - 0.38ke / S-TYPE - 0.37keg
o AF22&(Temperature range) : =10 ~ +90C

I E(Material)

M8 TAP DP12
M12 BY ORDER

* TOP PLATE FP : Press Steel

B35 E(LIGHT DUTY PURPOSE) v v I 40

F : Ferged(TtX) Steel

(Unit : mm)

Bearing Cover

S =4 THE(KS) EHXzZ HS =9 THE(KS) EHXE
\[0) PARTS MATERIALS TREATMENTS NO PARTS MATERIALS TREATMENTS
1 TOP PLATE SPHC & Zn Galvanized(3+) 5 Leveller(M8) SMA5C Zn Galvanized
FRn SM45C [Rl==) ZFEE (3+)otH=Z
BALL Ni=Cr FOOT Black
? 27 STB2 Lages ® Wk NBR 2
FRAME Pewder Ceated PIN Zn Galvanized
3 =5 ADCE oMY, [VORY ! ] ke (3+0lER
HANDLE ABS Red WHEEL Black
4 - 8 NYLON-6
= = AN
\_ SHE NYLON-6 M ) U HE A4 Y,

x WHEEL : Pelyurethane, Mc—Nylen by erder

J15% o= v @K




U v I 60 B85 E(LIGHT DUTY PURPOSE)

WI-60S

* TOP PLATE FP : Press Steel F : Ferged(TtX) Steel

e|d=(Dimensiens) (Unit : mm)
WI-60FP(F) 2 WI-60S

46
26
24.5

Bearing Cover

Bearing Cover 26 37.5

\
=
7 N m LT
R B - / —\ 2
o & ) 3 «
a4 O | g
QOKJQ ®
m Q; [ \é = o
P Q/ o =
58 M12TAP DP15
A4-@67HOLE % M16 BY ORDER
73 4-@8.7HOLE BY ORDER
X| ¥(Specificatien)
o e 518 5t=(Lead/unit) : 250ke/EA
o =3 5|2 5l=(Recemmended) : 500kg/4EA
o X}5(Net Weight) : F-TYPE - 0.77ke / S-TYPE - 0.63ke
o AF22&(Temperature range) : =10 ~ +90C
i E(Material)
HS =4 XHE(KS) HHXZ| Hs =9 THE(KS) HHXY2|
\[0) PARTS MATERIALS TREATMENTS \[0} PARTS MATERIALS TREATMENTS
1 TOP PLATE SPHC & Zn Galvanized(3+) 5 Leveller(M10) SMA5C Zn Galvanized
FRut SM45C of=g XHEE (3+)otz==
BALL Ni=Cr FOOT Black
? 27 ST82 Lages ® Wk NBR 2
FRAME Pewder Ceated PIN Zn Galvanized
9 =5 ADCE A0, [VORY n Rt ()0t
HANDLE ABS Red WHEEL Black
\_ 4 s NYLON-6 A ) U Hi= NYLON-6 eS| )

JWi) WOO-IL INDUSTRY CO.,LTD.

% WHEEL : Pelyurethane, Mc—Nylen by erder




126

90
70

s

QIE&E(Dimensiens)

WI-80FP(F)

4-@9 HOLE

Bearing Cover

104.5

12,

45.5

X| ¥(Specificatien)

o i 518 5t&(Lead/unit) : 500ke/EA

o =3 32 515(Recemmended) : 1,000ke/4EA

o XI=(Net Weight) : F-TYPE - 1.40keg / S-TYPE — 1.19ke
o AF22&(Temperature range) : =10 ~ +90C

I E(Material)

* TOP PLATE FP : Press Steel

WI-80S

%515 &(MEDIUM DUTY PURPOSE) v v I 80

F : Ferged(Et=x) Steel

(Unit : mm)

Bearing Cover

=4 THE(KS) EHXE =9 THE(KS) EHXE|

PARTS MATERIALS TREATMENTS PARTS MATERIALS TREATMENTS

TOP PLATE SPHC & Zn Galvanized(3+) Leveller(M12) SMA5C Zn Galvanized

Fem SM45C [Rl==) ZFEE (3+)otA==
BALL Ni=Cr FOOT Black
23 STB2 NREEEE! ey N.BR 2y

FRAME Pewder Ceated PIN Zn Galvanized
=5 ADCE Ao, IVORY n ke (3H)ole=S

HANDLE ABS Red WHEEL Black
s NYLON-6 ESI ) HiZ NYLON-6 eS|

% WHEEL : Pelyurethane, Mc—Nylen by erder

578 == HI @)




U v I 100 &st5&(MEDIUM DUTY PURPOSE)

WI-100S
+ TOP PLATE FP : Press Steel F : Ferged(ZZ) Steel
;4 . -
gz (Dimensiens) (Unit : mm)
64.8 WI-100FP(F) , WI-100S )
36 = Bearing Cover 648 52 Bearing Cover
32 36
4-@11 HOLE =T 32
~ 1
| ngys z
o —— 2 ) . 3
W <EL Mg g = 4
N ch B M
p: 2 = Mg
JQ 1100» T S é
e Q™ t_/ = /
A
7 M16TAP DP16
95 67
o ngn .
X| ¥(Specification)
o i 518 StE(Lead/unit) : 750ke/EA
o =3 5|2 5l=(Recemmended) : 1,500kg/4EA
o X=(Net Weight) : F-TYPE — 1.84ke / S-TYPE — 1.56ke
o ME2%(Temperature range) : =10 ~ +90°C
X Z(Material)
HS =4 THE(KS) HHXZ| Hs =3 THE(KS) HEHX2|
NO PARTS MATERIALS TREATMENTS \[0) PARTS MATERIALS TREATMENTS
1 TOP PLATE SPHC & Zn Galvanized(3+) 5 Leveller(M12) SM45C Zn Galvanized
e SM45C of=g ZHEE (3+)otH=Z
BALL Ni—Cr FOOT Black
2 = STB2 e e 6 v N.B.R 2%
FRAME Pewder Ceated PIN Zn Galvanized
3 =5 ADCE oM, IVORY ! n SM45C (3H)0lIER
HANDLE ABS Red WHEEL Black
\_ 4 s NYLON-6 ESIY ) U e HiZ NYLON-6 eS| )

jle® WOO-IL INDUSTRY CO.,LTD.

% WHEEL : Pelyurethane, Mc—Nylen by erder




&stZ&(MEDIUM DUTY PURPOSE) I 12 O

WI-120FP
« TOP PLATE FP : Press Steel F : Ferged(EtX) Steel
e|d=(Dimensiens) (Unit : mm)
1006 WI-120FP(F) 100.6 WI-120S Bearing Cover
65.4 e
34 earing ver

4-011 HOLE

90.5

121.5

141

95
70
|

18

; M16 TAP DP16
;: 67
Xl ¥(Specification)
o i 512 5=(Lead/unit) : 1,000ke/EA
o =3 5|2 5I=(Recemmended) : 2,000kg/4EA
o X=(Net Weight) : F-TYPE — 1.95ke / S-TYPE — 1.69ke¢
o ME2%(Temperature range) : =10 ~ +90°C
X Z(Material)
HS =4 THE(KS) HMHXZ| Ho = THE(KS) HEHX2|
\[0] PARTS MATERIALS TREATMENTS \[0) PARTS MATERIALS TREATMENTS
TOP PLATE SPHC & Zn Galvanized(3+) Leveller(M16)
1 2en SM45C ojeiza 5 AuzE SUS304 Natural
BALL Ni=Cr FOOT Black
2 27 sTB2 THEELE 6 i) ADCS s
FRAME Pewder Ceated PIN Zn Galvanized
g =5 ADC8 MO, [VORY ! n SM4sC (3+)0AE
NUT Zn Galvanized WHEEL Black
S 4 HE SM45C (3+)0jA 2 VAR 8 HH NYLON-6 2% y

% WHEEL : Pelyurethane, Mc—Nylen by erder

JI578 == Hi @]



8= (Dimensiens)

4-@13 HOLE

WI-150F

Xl fl(Specificatien)

o JiE 318 515(Lead/unit) : 1,500ke/EA

o =3 5|8 5l=(Recemmended) : 3,000kg/4EA
o XI=(Net Weight) : F-TYPE — 3.37ke
o ME2%(Temperature range) : =10 ~ +90°C

X Z(Material)

U N I 15 O 1515&(ULTRA HEAVY DUTY PURPOSE)

Bearing Cover

(Unit : mm)

HS =9 TE(KS) HHXZ| HS =3 THE(KS) HHHE

NO PARTS MATERIALS ~ TREATMENTS NO PARTS MATERIALS  TREATMENTS

1 TO;;I:_{/}-\TE SM45C Zn Ga(l)\;g;i;ed(%) 5 Lev;g;gzo) SUS304 Natural

o | e e | | [ [ [ e | A
L 4 ’ng SM45C Z’};;“;;’;”E?d ) 8 W:'}';EL MC NYLON S';y;;e

J

|E:J) WOO-IL INDUSTRY CO.,LTD.




WIM-600, WIMT-600

2(MEDIUM DUTY PURPOSE)

SotE8

WIM-600FP

WIM-600FBK

* TOP PLATE FP : Press Steel

WIM- 600FP(F)BK TYPE

WIMT-600FP

T
55 4-@9HOLE
— / ~
(N é\
W oog\l /Vl,q
NP
N0 [
© )
70 ‘
90
X #
o /i 518 5t&5(Lead/unit) : 800ke/EA
o =3 512 5I=(Recemmended) :

o Xt=S(Net Weight) :

1,600ke/4EA
WIM-TYPE - 1.07ke
WIMT-TYPE - 1.03Ke

—

76

I
|
=
| =

5

4-@9HOLE

WIMT-600S

F : Ferged(TtZX) Steel

(Unit : mm)

WIM(T)-600S TYPE

;M12TAP DP15

M16 BY ORDER

100
90
70

FanY

WIMT- 600FP(F) TYPE

o AFE2T(Temperature range) : =10 ~ +90°C
M
Hs =4 THE(KS) HHA =3 THE(KS) BHX2|
\[0) PARTS MATERIALS TREATMENTS PARTS MATERIALS TREATMENTS
1 TO;Z;’?TE smasc | Zn Gag‘;:”E‘ied@*) 5 BEARING HK1212
TR ===
BALL STB2 Ni—Cr WHEEL NYLON=6 Black
2 27 Laagea 6 b 1%
3 FRAME ADCS Pewder Ceated 7 BRAKE BOLT SM45C Zn Galvanized(3+)
=5 SO IVORY (M8) OIS
4 PIN SM45C Zn Galvanized 8 HANDLE ABS Black
\_ Il (BHotA=a )\ s &3 J
% WHEEL : Pelyurethane, Mc—Nylen oy erder

O



WIM-800, WIMT-800

&5t=2(MEDIUM DUTY PURPOSE)

WIM-800FP WIM-800FBK WIMT-800FP WIM-800S
+ TOP PLATE FP : Press Steel F : Ferged(ZtX) Steel
1|
QI%E (Unit : mm)
WIM-800FP(F)BK TYPE WIM(T)-800S TYPE
55 4-@9 HOLE
(N é\ Lﬁ‘ g
Yo cel Mg
Qf(z SA
ol sfﬁg d ®
%&J@ i
O S [2>"0) 5
— %
70
90 76
M12TAP DP15
M16 BY ORDER
55 4-@9 HOLE
e —
anY
Yokl Mg ﬁ}
x 'lo_-l Qf(z SA
1| — § i §fﬁ<§; §
o i 512 5t=(Lead/unit) : 1,000ke/EA - ,k JQ -
o =3 518 5t5(Recemmended) : 2,000ke/4EA © 2 \,\%{})
o X=(Net Weight) : WIM-TYPE - 1.27ke o
WIMT-TYPE - 1.13Kg 90 76
o AM22T(Temperature range) : =10 ~ +90°C WIMT-800FP(F) TYPE
=
HS 29 MZE(KS) HH2| THZE(KS) EHX2
\[0] PARTS MATERIALS TREATMENTS MATERIALS TREATMENTS
F|=mt Jlal=r
2 BALL STB2 Ni—Cr 6 WHEEL NYLON-6 Black
27 LUags3 bt #3
3 FRA_ME ADCS Pewder Ceated 7 BRAKE BOLT SM45C Zn Galvanized(3+)
=5 AfORM |VORY (M8) OlIES
4 PIIL:\I SM45C Zn(ﬁ;;;/;nEiied 8 HA%l;lgLE ABS Bl?;k
\ T oo j \ o= ad j
x WHEEL : Pelyurethane, Mc—Nylen by erder



WLC-1000, WLCT-1000

&5t=2(MEDIUM DUTY PURPOSE)

WLC-1000FP WLC-1000FPBK WLCT-1000FP
=1 |
2IC’E (Unit : mm) + TOP PLATE FP : Press Steel
F : Ferged(ttX) Steel
WLC-1000FP(F)BK

78
58

55

" ® 'WHEEL MASTER
\/ H A
kr-/ WOO-IL IND 69)
70 o i 518 5t5(Lead/unit)
95 1 1,000kg/EA
053 o =3 518 55(Recemmended)
1 2,000keg/4EA
WLCT-1000FP , _2,000ke/
58 [ o X}5(Net Weight)
55 : WLC-TYPE - 2.05kg
&
\“r—\ B WILCT-TYPE — 1.88Kg
K
¥ o AT (Temperature range)
,h WHEEL MASTER . _10 ~ +90°C
‘” =/
\r-/ WOO-ILIND 69]
70
95 8
A
Hs =9 THE(KS) HHXZ| HS =3 THE(KS) HHHZ|
\[0) PARTS MATERIALS TREATMENTS \[0) PARTS MATERIALS TREATMENTS
1 TOP PLATE SMA5C Zn Galvanized(3+) 6 WHEEL NYLON-6 Black
F2ut o=z H (Urethane Iy erder) A
2 3 sT82 Latsta 7 b sM4sC LdEs
i +
3 F%?IAE ADCS Pév(\)/ﬁj‘!r I(\Z/Baé?(d 8 BRA}((’\EBI)BOLT SM45C Zn Ga(l)vgnléed(S )
\ 5 Bearing 63012 ) x WHEEL : Pelyurethane, Mc—Nylen oy erder

21)



WLC-200, WLC-700

Z5I5E(LIGHT DUTY PURPOSE) %355 E(MEDIUM DUTY PURPOSE)

WLC-700FP

el (Dimensiens) (Unit : mm)
WLC-200FP

Xl ¥(Specificatien)

o /e 51& 5t&(Lead/unit)
: 200kg/EA
o =% 5|& slE(Recemmended)
1 400kg/4EA
o XI=(Net Weight)
: WLC—200FP - 0.69ke
o AI22=(Temperature range)

WLC-200FP ,,

26

87
WV
20

D WHEEL MASTER
U

o)
=/

" WOO-ILIND o

110

73
58

o
iy

: 1 =10 ~ +90TC
WLC-700FP
WLC-700FP
55
° ngn L]
2 X| ¥(Specification)
31.5
o i 518 5t=(Lead/unit)
1 700ke/EA
T L wawore o =3 5|2 51=(Recemmended)
2 ﬁ : 1,400k e/4EA
8 8 @ ® XI=(Net Weight)
ey : WLC-700FP - 1.65kg
A
o AME2=(Temperature range)
1 =10 ~ +90°C
i E(Material)
HS =9 IHE(KS) HHXZ| HS =4 IHE(KS) HEHXEZ
NO PARTS MATERIALS  TREATMENTS NO PARTS MATERIALS TREATMENTS
1 TO%_;%{fTE SM45C Zn Ga(l)vi;iéed(3+) 4 PII'-.I_I,\I SM45C Zn(SE)aOI;/gE%ed
BALL Ni—-C WHEEL Black
2 2 STB2 LHasEa 5 e NYLON-6 (e
FRAME Pewder Ceated WLC-200FP: SM45C .
3 =5 ADC8 AJOA, [VORY 6 FOOT SPC.NBR Ni
- : - \_ 3 lwLC-700FP: SMA5C Ha=s )

28 WOO-IL INDUSTRY CO.,LTD.




8= (Dimensiens)

110

73
8

WIP-200FP

WIP-200FP

Xl fl(Specificatien)

o /ig 51& st&(Lead/unit)
1 200kg/EA

o =3 5|8 5t5(Recemmended)
1 400kg/4EA

o XI=5(Net Weight)
: F-TYPE - 0.58kg

A5t=&(LIGHT DUTY PURPOSE) VV IP_ 2 O O

:Z WIP-200S S-TYPE - 0.59Kg
245 o A82(Temperature range)
— : —10 ~ +90C
< %
o ) | ®
- s Ry
46 N o
6
= or 60
@ G
M12*P1.75 e
X E(Material)
HS =4 THE(KS) EHFZ| HS =Y THE(KS) EHXE|
NO PARTS MATERIALS TREATMENTS NO PARTS MATERIALS TREATMENTS
1 TO%_;II:[?TE SM45C Zn Galvigéed(%) 4 PIIJ\I SM45C Zl}sﬁ%\}ggéed
3 FRAME ADCS Pewder Ceated 6 FOOT SM45C, SPC, Ni
\_ =5 AOM, [VORY 3} NBR ez )

1578 LIS HIY @K




WXT-80, WXT-100

&5t52(MEDIUM HEAVY DUTY PURPOSE)
new

S

o

WXT-80SF-MD WXT-80RF-UD WXT-100SF-MD WXT-100RF-UD

Clh 1

(Unit : mm)

48

=R—I
8 8
—&
60 N
85
SF TYPE RF TYPE
X
HS =9 THE(KS) EHAE|
NO PARTS MATERIALS TREATMENTS
1 TOP PLATE F|SEt SPHC & SM45C 2=
2 FRAME = SPHC 2H =
3 PIN & SM45C Zn Galvanized (3+) OlHEZ
Mc Nylen Olo|£2|M [VORY
4 WHELL Ht3
\_ Pelyurethane = J
H &

o A22:(Temperature range) : —10 ~ +90C
518315(LOAD)

s
1 EA 4EA (et Weight)
170 S1&31EX3
WXT-80SF, RF-MD Mc Nylen 800 2400 2.4
80 120 80 40
WXT-80SF, RF-UD | Pelyurethane 500 1500 2.9
WXT-100SF, RF—-MD| Mc Nylen 900 2700 2.6
100 140 90 40
WXT-100SF, RF-UD| Pelyurethane 600 1800 3.4
.

o ,



new

Sl o

WXT-125, 150, 200

1515Z(ULTRA HEAVY DUTY PURPOSE)

WXT-125SF-MD

Clh 1

WXT-150SF-MD

SF TYPE
A
HS =% THE(KS) HEHA2|
NO PARTS MATERIALS TREATMENTS
1 TOP PLATE F2& | SPHC & SM45C =H=E
2 FRAME =3 SPHC s s
3 PIN H SM45C Zn Galvanized (3+) OlH=3
Mc Nylen Of0|E2|M [VORY
4 WHELL I
\_ Pelyurethane = J

WXT-200RF-MD

(Unit : mm)

RF TYPE

318315(LOAD) X
4EA Net Weight
1 EA 1702 512315X3 ( oht)
WXT-1258F, RF-MD| Mc Nylen 125 170 107.5 77.5 1500 4500 8.7
WXT-150SF, RF-MD| Mc Nylen 150 200 125 80 2200 6600 9.2
WXT-200SF, RF-MD| Mc Nylen 200 260 160 75 2500 7500 10.6
. J
x WHEEL : Pelyurethane by erder




WHEEL (HIH)

BI:wi-C ™ B wi- v

) MD UD

MC-Nylen Wheel Urethane Wheel

y4e3 WOO-IL INDUSTRY CO.,LTD.




s o o o do Fo e o T

, , / ;__,M_H_,_,,,___,,_é J, _“,.,,,.,_ﬂ;__,

Wl

H




Functien Feature

Ut E ZHZHME~M52)7HA|

=R0| 2|5 - WiVIs - ESE UAVIs 52 542 71 NESE ZEuN
Ciyet #240| ASLICE ZE 7|871= 3~5 LIt

1o

Recoemmended Leoad

= 740

= ZANH sl 71AIZHI7E M U= 82

5183552 e £
gitdoz AME 712X *OE ZEetx|zt 8t & 220l 5t 0| % ERRS
oiH, 2 7ICtE2| 5i83t52 2EAQ| Levelling Feetdl TEE A9 SIESI=E E7I3._* Zd%ll-lllf

Quality Centrel

2285 BER - E3F — X — EXVIX| LIRS 22522

Hx2Yst EE = A HEE = Ao =Y
0| ®M2[EtLICt. (As the imelt relled By cylindrical thread relling centrels the screws, it let the werking cemfertable

HSZT EE 0B TE A

oo

He[eict,
eecause of being easily installed sy the electric teel and air teel.)

ZZ (PACKING)

HZ=Z (CYLINDRICAL = (PLATING)
THREAD ROLLING)

Attachments

x T7HEE LIAMRZO0|(S)2 #7|=/0f AFLIC

@



TS BL & NBL

0 ly

it 4 el

WHAR KA

R

dstaed

H
\

\
g
/
'LO0O-

?
MATERIALS BEUXMI 525E
BOLTANUT  af8  (FINSH) (4EA/ke)
M6x1.0 40 55 2t(SPHC) 100
36 40 55 6 9
M8x1.25 [— 20 29 2t(SUS304) 200
M10x1.5 —E0 g2 7 2.6t 300
100 122 (SPHC)
50 73
50 75 o8 . 15 e
M12x1.75__100 1 : 500
L o (SUS304)
150 173
50 73
75 o8
100 1
Mi2xt.7s—199 1 123 | g 600
150 173
200 Pk
63 50 75 15
75 100 BL
100 125 O AY
BL M16x2.0 130 155 10 (zn) 700
o 150 175
s ) 180 205 NBL
200 225 3t WL
saL 50 77 (SPHC) (Ni)
s 75 102 SM10C
o 100 127 3t SBL
130 157 SUS304/| (SUS304) ( %E!}
150 177 Natural)| 800
M16x2.0 30 1L 10
200 227 PSBL
250 277 ZalA(PL)
300 327
7 80 110 Uy
100 130
130 160
150 180
M20x2.5 —gg 510 13 1000
200 230
250 280
300 330
80 115
100 135 4.5t
130 165 (SPHC)
150 185
95 M20x2.5 180 315 13 292 4.0t 1500
200 235 (SUS304)
250 285
300 335
oe 100 138741 . %51/%t 2200
150 | 188/191 SPHC
105 |M24x3.0 500 [ pss/oar| 16 25 4t / 6t 2500

L 250 288/291 (SUS304) Y
% 7[Et ELAYS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER) @



RB & NRB

UEE 0|IELK| WS

(DUTY CUSHIONING AND SLIDEPROOF)

STEEL & STAINLESS

CEVELUNE (F0077

I

|

NBR PAD L]
(e8]
Y
‘*J
M6x1.0 40 59 2t(SPHC) | 100
40 [ wmaxt.25 —40 gg 6 13 21(SUS304) 200
60 87 300
M10x1.5 100 127 7 2.6t
50 78 (SPHC)
55 oo T 13 s 20 2.5t 500
) 0 :
M12x1.75 109 L2 (SUS304)
150 178
50 79
75 104
M12x1.75— 92 129 8 600
150 179
200 229 21 -
68 gg 1%16 OfGHEH A
100 131 (zn) 200
M16x2.0 130 161 10
RB 150 181 NIREL
NRB 180 211 3t Ha=3
(STEEL) 200 231 (SPHC) (Ni)
50 83 SM10C
SRB 75 108 3t i
PSRB 100 133 SUS304| (5US304) 2t
(SUs) 130 163 (Natural) 500
M16x2.0 150 183 10 -
180 213
200 233 =Za|A(PL)
250 283
300 333
81 80 116 23
100 136
130 166
150 186
M20x2.5 —133 Ll 13 1000
200 236
250 286
300 336
80 122
100 142 4.5t
130 172 (SPHC)
150 192
103 |M20x2.5 —130 e 13 29 4o 1500
200 242 (SUS304)
250 292
300 342

% 7|Ef EpALY

e zepk
(PARTICULAR
CASE IS
MADE-TO-
ORDER)



4FI(DUTY CUSHIONING TYPE)
STEEL & STAINLESS RL & NRL

[ M

| t,u
| S
| 1]

i v
\ T e
| n

i

NBR ZRRE | |
INSERT 47 Be z ~
|

DIMENSIONS(m/m) MATERIALS HEHX2| 52515
S H BOLT&NUT &te+ze3El (FINSH) (4EA/ke)
M6x1.0 40 62 2t(SPHC) 100
40 40 62 6 16
M8x1.25 80 102 2t(SUS304) 200
60 91 5 2.6t(SPHC)
55 [MI10xT.5 45 131 ! 4 2. 5t(SUS304) 300
50 83
75 108
100 133 2
68 |M12x1.75 22 o 8 5 AL 600
RL 150 183 OEH A
NRL 200 233 (zn)
(STEEL) 50 90 3t
75 115 sM10Cc| (SPHC) NRL
(35;) 100 140 SUS30 o WE=
130 170 UsS304 (Ni) 800
M16x2.0 150 190 10 (SUS304)
180 220 SRL
200 240 Qlut
82 250 290 30 (Natural)
80 123
100 133
130 163
M20x2.5| 150 183 13 1000
180 213
200 233
L 250 283 y,

% 7[Et ELAYS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER)



ABL & N ABL %‘PI:L%\I%A%S%NCHOR STYLE)
STEEL & STAINLESS

LEVELUNE (=001

M6,M8MI102 : F10.5

M122 1 @13

M16& : @ 17.5 & by order @ 14
M20& : @ 17.5
M242 : 3175

et oy
LLELALULEULLEL

Fifbiipp
o

LA

Wil :m
A

e ¥

N i

DIMENSIONS(m/m) MATERIALS mHxZ| &=251E
P BOLTSNUT &t  (FINSH) (4EA/Kke)

M6x1.0 58 o 100
40 58 6 PH 2
42 | M8X1.25 80 98 12 | 585 | 26.5 (i 5?) 00
7 .
M10x1.5 100 119 7 (SUS304) 300
50 73
75 98
63 100 123 8 15 84 39 600
M12x1.75(—190 123
150 173
200 223 ABL
50 77 O AY
75 102 (zn)
100 127 3t
130 157 NABL
M16x2.0 1z 7 10 (SPHC) N 800
Jjgl 180 207 3t (Ni)
200 T
(STEEL) 250 277 (SUS304) 1.
} 76 E Sis 17 12 56 | SM10C a5
ABL 80 110 (Natural)
TSAB} 100 130 sus304
SuUS 130 160
M20x2.5 {50 180 13 ngZL 1000
180 210 (PL)
200 230
250 280
300 330
80 115
100 135 4.5t
130 165
95 |M20x2.5 150 185 13 22 125 67 (SPHC) 1500
180 215 4.0t
200 235 (SUS304)
250 285
300 335
100 | 138/141 4.5t/ 6t
95 | \104x3.0 180 | 183/191 6 22 125 67 (SPHC) 2200
105 : 200 238/241 25 145.5 73 4t/ 6t 2500
L 250 | 288/291 (SUS304) J

@ % 7|E} ESAIUS Z2H|ZEHPARTICULAR CASE IS MADE-TO-ORDER)



gdtEE 7L 0|nYx| YEE (DUTY
CUSHIONING AND SLIDEPROOF STYLE) AR & N AR
STEEL & STAINLESS B B

‘n—
T
MB6,M8M10 : @ 10.5 :!.!
MI128 : 313 =
M6 : @175 L
M202: @ 17.5
M24E : 3175 <
: G
|
i 1
: i |
| : =
\ T %
| -3
|
INSERT 4 7} |

(L z

NBR 123 € o
ﬁﬁ:ﬁﬂ_
LD

M6x1.0 40 62 26 100

40 62 6 :

M8x1.2 (SPHC) 200
46 8x1.25 28 1£§J32 16 62.5 | 26.5 ) o
M10x1.5 100 123 7 (SUS304) 300

50 78

75 103

100 128

68 | Mi2x1.75 —199 128 8 20 89.3 | 39 600

150 178

200 228 ARB

50 83 Ot AY

75 108 (zn)

100 133 o

130 163 NARB
ARE M16x2.0 150 183 10 (SPHC) | = | 800
NARB 180 213 3t (Ni)
(STEEL) 200 233 SM10C |(SUS304)

250 283 SARB
sarg | 81 300 333 29 118 1 56 Isus3o04 it
PSARB e 1 (Natural)
(3US) 100 136

M20x2.5 130 166 PSARB

)

PL

200 236 (PL)

250 286

300 336

80 121

100 141

130 171 4ot

150 191 :

M20x2.5 — g3 b 13 (SPHC) 1500
103 200 241 28 | 138 | 67 4.0t

300 341 (SUS304)

100 144

150 194

M24x3.0 353 B 16 2200

250 294

% 7|E} E4AISS ZEHEEHPARTICULAR CASE IS MADE-TO-ORDER) O



FABL&NFABL

LEVELUINE (R0

M
tﬂﬂ

FABL
NFABL
(STEEL)

SFABL
PSFABL
(SuUs)

-

DIMENSIONS(m/m)

S

H

B

50 71
75 96
100 121 8
M12x1.75 125 146
150 171
200 221
75 98
100 123
130 153
M16x2.0 150 173 10 13
7090 180 203
200 223
250 273
80 106
100 126
130 156
M20x2.5 150 176 13
180 206
200 226
250 276
80 113
100 133
130 163
M20x2.5 150 183 13
180 213
90140 200 233 20
250 283
100 136
150 186
M24x3.0 200 236 16
250 286

MATERIALS

SM10C
SuUS304

3t
(SPHC)

3t
(SUS304)

4.5t
(SPHC)

4.0t
(SUS304)

HEHXZ|

28 Y18
(TWO HOLE ANCHOR STYLE)

STEEL&STAINLESS

512815

(FINSH) (4EA/ke)

FABL
OfH A
(zZn)

NFABL
LiA=Z
(Ni)
SFABL
1Ly
(Natural)

PSFABL
Za|d(PL)

500

800

1000

1500

2000

% 7[Et ELAY2 FEN|EEHPARTICULAR CASE IS MADE-TO-ORDER)

O




pa
RIRIRRRRRRR AR

ALELLL

g

e

N
Wi

NBR PAD

by order)

~=

(Polyurethane

2EIZ(DUTY CUSHIONING TYPE)

STEEL & STAINLESS

NS

N\ | I-m

'LOO-

DIMENSIONS(m/m) MATERIALS  mHX2| 35255
BOLT&NUT 35 (FINSH) (4EA/ke)
5 M6x1.0 jg g} ; 1 51 100
0 5 2
M8x1.25 &5 oL 5 (SPHC) 200
40 M6X1.0 jg gg 17 1.5t 100
(38) | M8x1.25 28 42% (SUS304) 200
M10x1.5 - s 7 300
50 75.5
7050 120'5 8 00
1 5.5 5
M12x1.75 99 el s
48 150 75.5 o
200 225.5
50 77.5
75 102.5
100 27.5
M16x2.0 30 157.5 10 700
150 177.5
180 207.5
200 227.5
50 76.5
NS 75 101.5 2t
(STEEL) M12x1.75 —1 99 126.5 8 (SPHC) | s 600
SNS 150 176.5 2t LA=Z
(SUS) 200 226.5 (sus304)| (Ni)
50 78.5 SM10C
75 103.5 _SNs
1(3)8 -22.5 sSUS304 =2 d(PL)
61 158.5
M16x2.0 150 o8 10 18.5 800
180 208.5
200 228.5
250 278.5
80 11.5
100 131.5
M20x2.5 28 *g‘-g 13
X2. 1 1 .
180 211.5 1000
200 231.5
250 281.5
50 80
75 05
M16x2.0 1(3)8 28 10
XZ. 1
150 180 2.3t 900
180 210 (SPHC)
72 200 230 20
250 280 2.0t
80 113 (SUS304)
100 33
30 63
M20x2.5 150 83 13 1200
180 213
200 233
L 250 283 )

% 7|E} ELAIUL FTE2H|ZSHPARTICULAR CASE IS MADE-TO-ORDER)



25158 & TSIEZ(HEAVY DUTY &
MF ULTRA HEAVY DUTY PURPOSE)
STEEL & STAINLESS

CEVELUN(E (=001

SUS304 P/W
N z

(9]

e e

(ﬁj J°

DIMENSIONS(m/m) MATERIALS HHX2| &35
B BOLT&NUT 35 (FINSH) (4EA/ke)
50 74
75 99
53 |M12x1.75 100 124 16
125 149
150/200 |174/224
50 76 8 1000
75 101
59 |M12x1.75 —199 16 U
150 176
200 226
50 78
75 103
64 |M16x2.0 —120 28
180 208
200 228
250 278 10 2000
ES
ME 100 132 SM10C
30 162 22
(STEEL)| 78 |M16x2.0 59 182 SUS304
180 212 MF
5 200 | 337 udta
2 N
L 0 SM45C
188 1ot Sl ﬁﬁg
64 | M20x2.5 ;gg Lﬁ? 18 (Natural)
200 231
250 281 13 3000
80 15
100 35
30 65
78 |M20x2.5 [ 150 85 22
180 215
200 235
250 285
100 138
78 | M24x3.0 233 88 22
e R
98 |M24x3.0 335193 27
250 293
150 196
98 |M30x3.5 200 246 19 27 5000
250 296
150 20 SM45C
98 | M42x4.5 200 251 24 o7 )
SUS304
127 150 203 e
14y |M42xa5 200 253 24 29
L 250 303 )

X 7[E} E4AIYS FTEH|EEHPARTICULAR CASE IS MADE-TO-ORDER)



SIEUTE & TSHSYTIE(HEAVY DUTY &
ULTRA HEAVY DUTY PURPOSE CUSHIONING)

STEEL & STAINLESS

MFR
(STEEL)

SMFR
(Ssus)

M
==
|
|
i
|
i v
|
! T
!
SUS304 P/W i
NBR PAD i =z
(Black)
)|
1

MATERIALS

BOLT&NUT
53 |M12x1.75[ 100 130 16 6
125 155
150/200 |180/230
50 82 8
00 | 132
1 1
59 |Mi2x1.75 190 32 18
150 182
200 232
50 84 6
75 109
7 0
1 Vi
64 | M16x2.0 i 184 18
180 214
200 234
ziy %gt 10
5
E% 112 SM10C
1 4
78 130 172 SUS304
M16x2.0 s s 22 10
180 222
200 242
250 292
80 17
100 37
130 167
64 | M20x2.5 150 187 18 6
180 217
200 237
250 287 13
80 125
100 145
130 75
78 | M20x2.5 150 195 22
180 225
200 245 10
250 295
8 1901198
7 5
M24x3.0 525 248 22
250 298 16
98 150 203
1
250 303 10
08 30x3 190 oo 19 27 SMm4s5C
M30x3.5
550 506 SUS304

St5

SM45C
SUS304

HHXNZ| 51855
(FINSH) (4EA/ke)

9
>
—

% 7|E} E4AIUL ZEH|EEHPARTICULAR CASE IS MADE-TO-ORDER)

1000
2000

MFR

LA=Z
(Ni)
SMFR
Abxi2|
(Natural)
3000
4000
5000
J

©



ME'T cq9

Eol5& & ISHESE(HEAVY DUTY & ULTRA HEAVY DUTY PURPOSE)

STEEL&STAINLESS

LEVELUNE (FB0T

M

MFD - 78

] (by order)

SUS304 P/W

XMF&ol| HIsH sIPAD(BXIS)7} ef&LICh

DIMENSIONS(m/m) MATERIALS  m@xz &i2s%
S H BOLT&NUT  &tst  (FINSH) (4EA/ke)
50 74
75 99
o 100 124
49 M12x1.75 125 149 8 16 1000
150 174
200 224
50 78
75 103
100 128
e I [ 158 10 18 | sM1oC 2000
150 178 MET
MIET 180 208 SUS304 L=
(STEEL) 2=3
200 228
sMm45c | (Ni)
250 278
SMFT | 78 80 111 sUs304| SMET
(8US) 100 131 uss ot
130 161 (Natural)
M20x2.5 150 181 13 18 3000
180 211
200 231
250 281
100 134
150 184
88 |M24x3.0— 3 i 16 18 4000
250 284
150 189
98 |M30x3.5[ 200 | 239 19 20 | SMASC 5000
L 250 289 y

% 7[Et ELALLS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER)

O



MFETR a9

SoEUTE & LEEUTE(HEAVY DUTY &
ULTRA HEAVY DUTY PURPOSE CUSHIONING)

STEEL&STAINLESS

AINNS AN

M
BE
|
|
|
|
| )|
|
| I
|
SUS304 P/W :
NBR PAD - Z
(Black) ol o
_n-_ ,
—

XMFRE0 HlsH SHEPAD(BX|)7t SFELICE

DIMENSIONS(m/m) MATERIALS  EHxz 325i=
S H N BOLTGNUT  5t82  (FINSH) (4EA/ke)
50 80
75 105
49  |M12x1.75 }gg ]gg 8 16 6 1000
150 180
200 230
50 88
75 113
100 138
M16x2.0 ]gg }gg 10 18 10 | SM10C 2000
MFTR MFTR
( ) 180 218 SUS304 N
STEEL 200, 238 smasc | (Ni)
- 250 288
e . 1 SUS304| SMFTR
(sus) 100 141 Qlut
M20x2.5 128 ];1 (Natural)
XZ.
150 191 13 18 10 3000
200 241
250 291
100 144
150 194
88 |M24x3.0—520 v 16 18 10 4000
250 294
150 199
98 |M30x3.5 200 249 19 20 10 833”3435004 5000
L 250 299 )

% 7[Et ELAYS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER)



=5I=2(HEAVY DUTY PURPOSE)
MFZ & BOLT : STEEL&STAINLESS
PAD : Zn & AL

LEVELUN(E (=001

M
i
| B
| ==
i = =
Y =
SUS304 P/W !
\
L L] z
\
/ ‘ \ x
i
@

MATERIALS  mMXz| &I251F

BOLT&NUT (FINSH) (4EA/ke)
53 M12x1.75 100 127 19
25 152
150 177 8
50 79 1000
75 104
64 M12x1.75 100 129 21
125 154
150 79
200 229
50 79
75 104
100 129
53 M16x2.0 30 159 19
50 79
:80 209
MEZ 200 229 MFEZ
ME A 250 279
MFA
i 50 81
STEEL) 100 131 smioc | (zZn) (Ni)
64 M16x2.0 130 161 10 21 2000
L 1] SUS304
SMFZ lgg 5%1 "E*(E-DI)E SuUsS
SMFA 2 AL) | BOLT:
(BOLT: 25500 28851 b 2|
SUS) 75 10 (Natural)
100 35
78 M16x2.0 130 165 25
150 185
180 215
200 235
250 285
80 14
100 134
130 164
64 M20x2.5 150 184 21
180 214
200 234
250 284
80 18 13 3000
100 138
30 168
78 M20x2.5 50 188 25
180 218
200 238
250 288
SiF A2 ofgd E= AR0|E MEOIH 735 LIAZZS MESE 20| WX[=|n AHQIALL SUSH EHE X|LIH 70|
XES 20| HELICH
The cup in the lewer is made frem zinc er aluminum casting and nickel-plated after precessing itself. Se this having
the same characteristic te stainless—steel it prevents must frem happening and especially the price is cheap.

FEHMZSHPARTICULAR CASE IS MADE-TO-ORDER)

% 7|EF SaAe



% 7|E} ESAIYL FEH|EEHPARTICULAR CASE IS MADE-TO-ORDER)

BOLT

(HEAVY DUTY PURPOSE CUSHIONING)

: STEEL&STAINLESS
PAD : Zn & AL

i

4
L
A

W H o 4
PRI

!
&

A

Hi e

MFZR

M
e
i
|
|
i
i v
|
| e
!
SUS304 P/W :
NBR PAD . =
(Black)
oD
—

MATERIALS HHXZ| 3555
BOLTENUT ~ ot& (FINSH) (4EA/ke)
53 |M12x1.75] 100 33 19 6
125 58
150 83 8
50 85 1000
75 110
64 |M12x1.75[__100 35 21 6
125 160
150 85
200 235
50 85
75 110
100 135
53 M16x2.0 130 165 19 6
150 185
360 T 530
z 5
mgig 250 285 APzl
50 87 MFAR
(BOLT 75 112 oA L|ZAEZ
STEEL) 100 137 SM10C (Zn) (Ni)
64 M16x2.0 130 167 10 21 6 2000
150 187 SUS304
SMFZR ng 55; U20|= SuUS
SMFAR 2z (AL) BOLT:
(BOLT: %? %? AbxE|
SUS) 13 120 (Natural)
100 145
78 M16x2.0 130 175 25 10
150 195
180 225
200 245
250 295
80 120
100 140
130 170
64 |M20x2.5| 150 190 21 6
180 220
200 240
250 290
80 128 13 3000
100 148
130 178
78 |M20x2.5| 150 198 25 10
180 228
200 248
250 298
StE Z2 ot = UR20|E ME0|H 71835 LIZAzZs MECE HEA0| HX|E|D AHQIAL} SUSH EMS X|LIH 7tz40]| XSt 20|
ULt

The cup in the lewer is made frem zinc er aluminum casting and nickel-plated after precessing itself. Se this having the same
characteristic te stainless—steel it prevents must frem happening and especially the price is cheap.

MNIASIN

IWJ\



S(HEAVY DUTY PURPOSE)
MFN STEEL & STAINLESS

,,_
i1
-
i1)

DIMENSIONS(m/m) MATERIALS  ®HX2| 32515
S H BOLT&NUT &t (FINSH)
107
100 132
59 [M12x1.75 125 157 8 24 1000
150 182
200 232
50 84
75 111
100 134
59 |M16x2.0] 130 164 10 24 2000
150 184
180 214
200 234
250 284
50 86 SM10C MEN
75 111 W
MFEN 100 136 SUS304| sM4a5C | (Ni)
(STEEL) M16x2.0[ 130 166 10 26 2000
150 186 SUS304| SMFN
SMFN 180 216 Qlut
(sus) 200 236 (Natural)
78 250 286
100 139
130 169
M20x2.5 150 189 13 26 3000
180 219
200 239
250 289
100 145
M24x3.0[__150 195 16 29 4000
200 245
98 250 295
150 198
M30x3.5 200 248 19 29 5000
250 298 SM45C
127 150 222 SUS304
147 |M42x4.5_ 200 272 30 42 6000
L 250 322 )

0Il

@ X 7|E} ELAIYL FEM|ZISHPARTICULAR CASE IS MADE-TO-ORDER)



S5t54ZIZ(HEAVY DUTY PURPOSE CUSHIONING)
STEEL & STAINLESS MFNR

NINNSADN

'1O0

DIMENSIONS(m/m) MATERIALS HHXZ| 3FI85E
S H N BOLT&NUT  sH& (FINSH) (4EA/ke)
75 111
100 136
59 |M12x1.75 125 161 8 22 1000
150 186
200 236
50 88
75 113 6
100 138
59 |M16x2.0| 130 168 10 22 2000
150 188
VENR 180 218
200 238
(STEEL) 250 288 MENR
SMFNR ?2 %ﬁ Swoc u%ﬁa
(SUS) 100 146 SUS304| SM45C
M16x2.0[ 130 176 10 26
150 196 sus304| i | 2000
180 226 (Natural)
200 246
78 250 296 10
100 149
130 179
M20x2.5] 150 199
180 229 13 26 3000
200 249
250 299
100 155
M24x3.0[ 150 205
200 255 16 29 4000
98 250 305 10
150 208
M30x3.5| 200 258 19 29 ;ﬁgg%i 5000
L 250 308 y,

% 7[Et ELAYS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER)



MFU 15E2(ULTRA HEAVY DUTY PURPOSE)
STEEL (AEEZF) & STAINLESS

LEVELLING (FOOT

DIMENSIONS(m/m) MATERIALS HHMZ| SISt
S H B BOLT&NUT 5K (FINSH) (4EA/ke)
100 148
78 M16x2.0 150 198 13 35 2000
200 248
100 148
78 M20x2.5 150 198 13 35 3000
200 248
100 155
150 205
MFU 98 M24x3.0 200 255 14 41 EiMEFEUE.l 4000
(STEEL) 250 305 SM45C | SM45C (CR)
150 205
SMFU | 98 |M30x3.5[ 200 255 14 41  |SUS304|SUS304| gyfpy | 5000
(SUS) 250 305 Abxial
150 215 (Natural)
127 M36x4.0 200 265 20 45 5500
250 315
150 215
127 M42x4.5 200 265 20 45 6000
250 315
150 225
147 |[M52x5.0[ 200 275 25 50 8000
250 325
15EECR ZE ZHO| =i HH=x| FH| Y Ao MESIEE MAZ 05HE HUSH HH|o|= FEo| =A
2 {Xlsi =Ct
This preductien used te the heavy weight pressure and able te adjust any wanted angle, Net enly is this
designed te e suitable fer the equipment fer testing and semicenducter, but alse this keeps cenditien
mest suitable even in the cases en heavy weight and precisien instrument.

|\ J
% 7|Et ELAYS FEMEISHPARTICULAR CASE IS MADE-TO-ORDER)

O




TSER(ULTRA HEAVY DUTY PURPOSE)
STEEL (FHsiLIZ=3)

r—Series

(30° AtCH2|E LEAL)

== 0\ M
-—_i ;:, o > —
-—
- S, T TR _—
: = = %)=
==
b &
-
3 nn
=3 =
= ==
S 2 = ; -
. = b - =
S 2 i= -
b2 == m#
- & =
== = @
MATERIALS  EHXal 5235
S H BOLTGNUT 5t (FINSH) (4EA/ke)
150 204
WTrd2 | 127 | M42xe 200 254 22 2 30 12000
250 304
300 354
150 215 -
WTr52 | 147 | M52x7 | 200 265 27 3 35 | SM45C| SM45C | sz | 16000
250 315 (E—Ni)
300 365
150 215
WTr60 | 147 | M60x7 |—290 265 27 3 35 20000
250 315
L 300 365 )

% 7[Et ELAMYLS FEN|EIEHPARTICULAR CASE IS MADE-TO-ORDER)

% AICI2|Z =&%}9

ACHE|E LAt R8s LIA=EE 22 WEY, WitRY, B|REd 3 20

| 53

o

248 FXz[Alol= Hv900~10007HX| 7+se
Good for Heat resistance, Abrasion resistance and antipollution. The surface hardness normally Hv400 to 500,
after heated Hv 900 to 1000 possible

1

307

@d1

% Note
P d1 d H
1. d1: EXIE
Tr42x6P | 6 | 34.5| 42 | 3.75
2.d 24
Tr52x7m 7 43.3| 52 | 4.35
3. H : At=0]
Tr60x7p | 7 51.3| 60 | 4.35

| 451, Hv400~500 M2 EHAZI}



NHNR-65 & NHNR-65 (%)
Il

STEEL & STAINLESS

M
|
A ] s
Wh /77 'r-
W 5% | i =
unr =
WA | — ]
WA o NHNR-65 =]
WY | =
W |l =
WINH TR
NBR PAD . = ! >
= D ENo P i
0 - E
2 k.
‘r ‘.‘ 1‘ r = l !
M
ﬂf«
]
\
|
| "
I B
| (NHNR-65(%)) =
| ;1
| I
NBR PAD : = _
Te) ~ %
0 R
50 86
75 111
M12x1.75 1‘2’2 11%‘13 10 500
NHNR 150 186 NHNR
(STEEL) 200 236 WEN=E
SNHNR 30 g8 (Ni)
(SUS) 75 113 = AN
100 138 3t | B2 | 800
M16x2.0[ 130 168 12 26 | sMi0oC | (SPHC) | =%
NHNR(®) 65 150 188 (Bla_ck)
(STEEL) 180 218 SUS304| 3t |mainting
200 238 (SUS304)
SNHNR(Z) 250 288 —Sé\fﬂ('\éff)
(SUS) 80 121 e
100 141
130 171 1000
M20x2.5] 150 191 15
180 20
200 241
250 291
% 7|Et ELAMAL FEMEEHPARTICULAR CASE IS MADE-TO-ORDER)

O



Sst5UEIZ(HEAVY DUTY PURPOSE)

STEEL & STAINLESS

NHNR-80

DIMENSIONS(m/m)

NBR PAD

MATERIALS

BOLT&NUT SH(STEEL)

HEHXZ|

1005 DNINNSASN

518515

(FINSH) (4EA/ke)

28

S H
50 88
75 113
100 138
M12x1.75 125 163 10
150 188
200 238
50 90
NHNR 75 115
(STEEL) 100 140
80 |M16x2.0 130 170 19
SNHNR 150 190
(SUS) 180 220
200 240
250 290
80 123
100 143
130 173
M20x2.5 150 193 .5
180 223
200 243
\ 250 293

SM10C
SuUS304

4t
(SPHC)

4t
(SUS304

=

painting)

SNHN
Za|d(PL)

600

1000

1500

% 7|Et ELAYS FENEEHPARTICULAR CASE IS MADE-TO-ORDER)



E3t58 & 16158
P AD — A (HEAVY DUTY & ULTRA HEAVY DUTY PURPOSE)
STEEL & (Stai

ainless by Order)

PAD-A
4,+Ai%‘4
H I
!
|
!
n
T
SUS304 P/W I @19
N =z @14 by order
[ ] | ‘ ‘ (an)]
| | I | |
D
St£PAD
(Black painting
: by Order)
JTVCUNINGO@E WU

DIMENSIONS(m/m) MATERIALS HHXM2| 5I825HE
H N BOLTANUT  atst  (FINSH) (4EA/ke)
100 133
130 163
150 183
M16x2.0— 2 o 10 23 2000
200 233
250 283
75 100 136 1o 56
130 166
150 186
M20x2.5— 23 ol 13 23 ax | 3000
200 236 (Fergod| Ot
250 286 SMI0C steen | (zn)
100 137
PAD-A 130 167
TEEL 150 187
(s ) M16x2.0 50 T 10 27 2000
200 237
250 287
85 100 140 144 78
130 170
150 190
M20x2.5— 23 T 13 27 3000
200 240
250 290
100 148
M24x3.0—150 198
X T e 16 32 4000
100 250 298
150 201 159 90
M30x3.5| 200 251 19 32 SM45C 5000
L 250 301 y

% 7|Et ELAYS FEH|ZISHPARTICULAR CASE IS MADE-TO-ORDER)



35158 & D558
(HEAVY DUTY & ULTRA HEAVY DUTY PURPOSE) P AD — B
STEEL & (Stainless by Order)

S -—
H _
DN INNSASN

£
g?
|
2
SUS304 P/W
S ﬁ Z
1 J ‘
)]
| V >
- —y
SR PAD
(Black painting
: by Order)
DIMENSIONS(m/m) MATERIALS  mOoXa| 35251=
S H BOLT&NUT 3t (FINSH) (4EA/ke)
75 100
100 125
60 |M12x1.75 2 fin 8 17 1000
150 175
200 225
50 79
75 104
100 129
66 130 159
M16x2.0 130 lag 10 19 2000
180 209
200 229
250 279 SO
50 84
75 109
100 134
PAD-B M16x2.0 39 bt 10 24 TR | ofgil | o000
(STEEL) 150 1EA (Ferged| (zn)
180 214 Steel)
200 234
250 284
EL 80 117
100 137
130 167
M20x2.5| 150 187 13 24 3000
180 217
200 237
250 287
100 147
150 197
M24x3.0 —525 Y 16 31 4000
250 297
100 150 200
M30x3.5| 200 250 19 31 5000
250 300
150 204
M30x3.5| 200 254 19 35 | SM45C 5000
250 304
120 150 210
M42x4.5 | 200 260 24 36 6000
L 250 310 )




FR & PL & ssuniess

NBR PAD

DIMENSIONS(m/m) MATERIALS  moial 5251
H B BOLT&NUT &t  (FINSH) (4EA/ke)

% 7[Et ELAYS FEM|ZEHPARTICULAR CASE IS MADE-TO-ORDER)

!

M
221t % B4 YEBAALS AN
LR S Fli THRIX| e4&LICt,

PL-90
DIMENSIONS(m/m) MATERIALS BHXMZ| Si8slE
S H N BOLT&NUT ~ 5tt  (FINSH) (4EA/ke)
M6x1.0 | 40 63 1 1 100
40 [M8x1.25| 40 63 0 3 oL 200
M12x1.75—/0 122 ofoteay | 400
PL 60 il 155 26 24 2 (zn)
NPL M16x2.0 —/0 2z SM10C |PLASTIC 500
(STEEL) 1715, ;Ig; (AFE) NPL
M16x2.0 —L0 132 26 30 6 |PLASTIC LA== | 600
90 (Ni)
80 142
M20x2.5—80 152 26 30 6 800
M6x1.0 | 40 63 1 1 100
40 M8x1.25| 40 63 0 3 200
M12x1.75—0 e 400
SPL 60 15 16/ 26 24 2 |sus3o4 SPL
(SUS) M16x2.0 —/0 122 PLASTIC| 2l 500
115 167 PLASTIC| (AEE) |(Natural)
M16x2.0 —/0 132 26 30 6 600
90 80 | 142
| M20x2.5—80 152 26 30 6 800

% 7[Et ELAA2 FEM|EEHPARTICULAR CASE IS MADE-TO-ORDER)

@



suness ANCHOR BRACKET

:;5 ‘g% -2‘ T i >/ ‘ \\
= it Ry |G =S
. ' ¥
..i’
r I m
: :

DIMENSIONS(m/m) BEHXz|

M1 L Mz (FINSH)

ANP-12 12.5 25 10.5 15 80.5 108 28 3.0t yusa
ANP-16 16.5 37 14 19 75.5 108 33 (SPHC) (Ni)
ANP-20 20.5 37 14 19 75.5 108 36
oAtz izs | e o5 [ ie [ans 106 126 | 501 [ aam
: : (SUS304)| (PL)
L SANP-20 20.5 37 14 19 75.5 108 36

RK TABLE FOOT BASE

A=(PLASTIC)

Mi6

DIMENSIONS(m/m)  &iR351=

4 S (4EA/Ke)
FB50 2t
(Atztmo| =) 50x50 53t | 3000
FB50 t
L (ﬂxfsggzz) 50x50 ?“ 2400 J




A/L PROFILE FOOT BASE

20| ECIO|HIAERI(AL DIECASTING) / UH=ZE(PAINTING)

TAP

40 M2 3-M8 COUNTER 80
M16 40
! M20 ! !
O A4S & ] o O
o el [ Sldlg B e s
81 \>\ ’\T/ﬁg T 98 v 8
QI 1o © cliite
o 2-M8 COUNTER 7 x| 2 17 ‘ @g
40
a0 | 4-M8 COUNTER \ M20
WIFB-4080 WIFB-8080C WIFB-8080
TAP
30 M% 3-M6 COUNTER 28 4-M6 COUNTER
| M20 | I
‘ ;O o O
88T%\ 7% L Kﬁi%% S (D " e
TAP o : : : :
115 } 2-M6 COUNTER 15 115 TAP
| 5.1 mg
30
pos M20
WIFB-3060 WIFB-6060C WIFB-6060
518355
MODEL  (4EA/Ke)

WIFB-3060 | 2000
WIFB-6060 | 2500
WIFB-4080 | 3000
WIFB-8080 | 3000
WIFB-6060C| 2500
_WIFB-8080C| 3000




83

175

oo |+ ZH| PAD

* CHANNEL 7#28:60x30

81

* 51251%:2000(kg/EA) COMBINATION PAD
[ e —
| J II " : ol o — f—
20 95 &0 = 155'11"1' e xH = _II.EI‘E TE(FCD 45)
H— 218
(== (o
G- o 3 ) I .
( o——1 “‘l — “l LR
C¥7} CHANNELY]
I V1 aged g 24 9
. FEY YAgoR AE
=y - .
=C|:AIT\J?VEL7§\Z75 . 18 EWAE : SAM=A(Black painting)
* 23775x - - - = -
* 512 515:3000(kg/EA) o LEVELLING EQQI
1
[ 1= |
i !
| £ o i
wnl H 91
fy =———= : E d
e R - :| >
ST — | 1
24 81 50 | 60 _1o_38_2 30|

ZH| PAD 100W

* CHANNEL #24:100x50 2
* 5125+5:4000(kg/EA)

0

!

i
1

=]
— T
@20
I—
g]

|_ 65 _10_35_|15| 30 |
155

—_ -

120x120 60x60 3T 45H(BIRE)
Ab 2t 102x102 55x55 3T 40H
90x90 50x50 3T 40H SPHC
125 70 3T 45H(BIRE)
H g 125 70 3T 47H(YHH
125 60 3T 40H



WIS-40F 0.65 1.43

WIS-40S 0.66 1.45

455x310x285
WIS—-60F 1.09 2.40

WIS-60S 1.11  2.45

WIS-80F . 5.02

610x295x140
WIS-80S ; 4.87

Gress Weight

lios

WI-40F

WI-40S

WI-60F

460x340x310
WI-60S

WI-80F

WI-80S

WI-100F 1.84

WI-100S  1.56

440x300x290
WI-120F  1.95

WI-120S  1.69

WI-150F  3.37 . . . . . 380x280x310

WIM-600F 1.07

WIMT-600F 1.03 . . . . . 450x320x290

WIM-600S 0.82
|

@ WOO-IL INDUSTRY CO.,LTD.




